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(1) #FHik&
RO B & 1WA 43600076
izl BEITIHFLFI=3200 X 25%=800 (JT)
FAERLG EI2 A =8000X (1—25%) =6000 (7G)
ALEW: B REFIA=4200— (4200—4000)
X 25%=4150 (JG)
47 B S B =36000+5200 X (P/A, 15%, 10) — 4150 X
(P/F, 15%, 10) =61071.88 (JT)
4 A=61071. 88/ (P/A, 15%, 10) =12169 (JG)
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B HE&HRED=10000+ (23000—10000)
X 25%=13250 (JG)
iz BFETIHHBI=3000 X 25%=750 (JT)
RAEREBEIZHEA=10500X (1-25%) =7875 (JT)
AW AR FRAEF I =3500+ (5000—3500)
X 25%=3875 (JG)
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& B BE=13250+7125X (P/A, 15%, 6) — 3875 X
(P/F, 15%, 6) =38539.4 (JT)
4R A=38539. 4/ (P/A, 15%,6) =10183 (JG)
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ffr: AL E K P E=1000—800=200 (/Ht) ZAF
PRI = (200—120) X25% =20 (Ji70) BERASP P24
HII 4R =1204+20=140 (J370)



